Turn sequence


1. Roll initiative (d20)
2. 
Divert power

3. 
Launch ballistics

4. Move (initiative order)

5. Fire (alternately)  (roll for first each 2 turns)

6. 
Ballistics strike

7. 
Ship firing (incl. anti fighter ballistics)

8. 
Fighter to fighter (simultaneous)

9. Fighter drop outs (d6)

10. 
Fighter anti-ship fire 

11. Weapon drop outs (d10)
Divert Power
· Divert power from one weapon to another to reduce its recharge time (note down on sheet)
· Max of double power

· After 2 turns firing must cool down for 1 turn


Destroyed sides
· Use ½ armour on facing side (round down)
· All shots to primary 
Per lost side

· Turn delay is increased by 2 zigs.
· Signature increased by 2 points.
· Initiative -6

· 50% of initial jamming / stealth capability.
Destroyed weapons

· Use ½ armour (round down).

Weapons fire

1. Roll “To Hit” (<= on a d20):

= Signature + Range modifier

2. Intercept (d10)
3. Determine side hit (d10)
4. Roll location (d20)
5. Roll damage

6. Deduct armour ( ½ if system/weapon destroyed)
Called shots

Target a specific side of a ship


Side

   Signature adjustment

Facing side

-5



Other side

-8
Interception

Roll 
d10 <= intercept value     (1 roll per weapon)
Pulse weapons

Value = No. pulses intercepted





(Cumulative)

Ballistics

+1 to intercept (slow moving)
Ship Movement

Turns


Must be plotted in advance.

Add accn. / decn thrust cost to turn delay.

No speed change after turn started.


Use final speed.

May turn from any pivot angle.

May delay turning point (up to half hexes left).


May finish at +1 pivot (i.e. turn + 60°).

Facing is turn +1 pivot until turn point reached.
Deceleration


Rotate 180º and apply max ½ thrust.
Pivots


180º in ½ turn ( ½ thrust left for accn. / decn. ).

   60º in 1/3 turn ( 2/3 thrust left for accn. / decn. ).

May pivot & roll with no thrusters / engine.
Slides


Accelerate 1 for each slide (start or stop).

Turn into slide requires less thrust = accn..

Turn away from slide requires extra thrust = accn. .
Rolls 


Completed at end of movement phase.
Agile ships


Snap pivots (-1 thrust)

Snap rolls (After all movement). 
Gravitic ships


Anything at any angle.

Speed change during turn (add lost thrust to delay).
Overkill

System →   structure

Structure → primary

Primary  → primary structure

Primary always hits random location
Raking

+1 to hit per d10 forfeited.
Apply in blocks of 10.

All rakes from a single weapon will hit the same specific system.

Only count armour on a system / structure once.
Sustained

Fire 2 consecutive turns, then 1 turn cooling
Normal power only for second shot
Ship ratio

If ratio of ships > 2:1 player fires 2 ships.

Additional ships must be from the smallest class yet to fire.
Fighter to ship


· Must be in the same hex as target for guns to work.

· May choose the facing they hit.

· May attack specific weapons or external systems


Size
   Signature


System
0

Weapon
-1

Anti fighter weapon
-3
· Fighters attacking systems or weapons ignore ½ armour
· Fighter missile range = 3
Fighter to fighter

· Target a specific flight 
· Defender selects fighter hit (not a destroyed fighter)

· D6 for drop out <= structure


Specific Weapons

Torpedoes
Launching ship’s EW




In arc at impact or EW = 0

Light pulse

May fire shots at different fighters (-1 pulse per change of target )

Against ships all pulses hit the same system.  Each pulse reduces the armour by 1 (for that attack)

Energy mine & Gravity Mine target
1-16 

Hit target hex

17-18 

1 hex off

19

2 hexes off

20

Dud

Guardian Arrays

· Fire out of sequence

· Must be within 1/3 of distance between “firing ship to target ship” from the target.

e.g. enemy to ally = 6 hexes, 
must be within 2 hexes of ally
Burst beam

Deactivate 
Weapon permanently, 
Thrusters 1 turn

Structure or primary no effect
Plasma Web
Two drop out rolls

1st is temporary (that turn only)

2nd is permanent (as normal)
Fighter Combat Orders

Mark A/I/D/L in box.

If “D” note move distance available

Attack - 
Target a ship. Ignore defensive fire 

run
(+3 to hit / be hit)


May break off after movement

Intercept
Intercept ballistics 1/10 (must be in targets hex)

Defend - 
May attack fighters (only) 


Move to location as normal, after all normal movement, move to a target fighter pack. 

Move fighters in initiative order.

Available movement = s
(Thrust – accn – sum of turn delays)/3
Launch
May use ¼ thrust that turn

1st turn delay = zero


Criticals

Weapons


Drop out roll 

(<= remaining blocks on a d10)

Thrusters


-1 thrust per complete row destroyed

Sensors 


-1 to hit per complete row destroyed

Reactor


-1 power per block lost 


10% blow up ship if destroyed
Engine


-1 thrust per block destroyed
C&C


For each complete row destroyed

· -2 initiative

· -1 EW 

· Next turn 20% complete failure per row destroyed. 
Jump engine


1% blow up ship per block if used

2% fail per block

Shield generator 


-1 shield per row destroyed
Projectile Type
Beam


Raking

Particle & Molecular


Standard damage

Plasma


½ armour (round remaining down)


Lose damage for distance. 

(1 per 2 hexes
or 1 per hex)

Matter (armour piercing explosive tip)


Ignore armour


No overkill

Matter (armour piercing)


Piercing damage

Anti-matter


Damage dependent on accuracy of shot


x = difference between signature and roll

Gravity


Ignore armour

Damage Mode

Standard


All damage to one location.
Raking (incl sustained)


Non-interceptable.


Apply in blocks of 10.

All sub-rakes hit the same specific system.

Count armour on a system / structure once.

Sustained

Normal power for 2nd turn auto hit

Flash


Overkill = re-roll location, no primary hits.

Electro-magnetic


Special

Pulse (normally plasma)

All pulses at the same target ship.

Standard damage

Piercing 

· -5 to hit (unless weapons normal mode)

· <Piercing strength> blocks of damage to each location hit.

· Penetrate ship until all damage used.

· Count armour in and out of primary systems.

· Hits 

System → Structure → Primary → Structure → System

Plasma battery
· Start fully powered.
· Power up batteries from inactive weapons.
· Can provide stored power to any weapon on its side.

· Ignore double power limit as power has already been converted to plasma.
Initial set up
· Determine year (2200 +d6x10 + d10).

· Each side must have 1 jump capable ship.

· Each jump ship may escort two ships of next lower classification. Except if defending base / planet.

· Starting speed is the same for both sides =d3+4 (5-7).

· Fighters start in hangars.

Jammers
Lose half EW, round down remaining.

Scouts

Each ELINT level provides +1 EW to all ships.

All scouts are command ships

Command ships
Provide +2 (or more) initiative to all ships

Missile Racks

Missiles do not have firing arcs, they are pre-programmed and use on board navigation and passive detection systems (fire control).

Missile variants
	Type
	Range
	Damage
	To hit

	Standard
	30
	20
	+2

	Long range
	50
	10
	+2

	Heavy
	20
	25
	+3

	Harm
	25
	15
	Sp

	Anti-Fighter
	5
	5
	+10

	Fighter
	3
	8
	+1


Harm missiles use ½ the EW of the target as a to hit bonus.

OSATS

OSATS are programmed not controlled,

Sample programs are :

Fire at nearest

Fire at biggest 

Fire at best chance to hit

Fire at best chance to hit over 10

Fire at closing ships

Fire at closing ships unless the gun doesn’t fire every turn

Asteroids
Asteroids are either large individual rocks or many smaller rocks. Fields of smaller rocks may be flown through and provide some cover from fire if within or behind. 

Large asteroids

Large rocks may be manoeuvred behind to provide complete cover. They can not be flown through.

Large asteroids do not hide line of sight unless the ship is the hex directly next to them

Asteroid fields 
Fields have a density level of 1 to 4

If flown through asteroids will hit the ship

Chance for an asteroid to hit = 

Ship size + speed + asteroid density


Ship size

Attacks per hex


-4
Fighter

= 1 @ d6

-3
LCV

= 1 @ d10


-2
Medium
= 2 @ d10


-1
HCV

= 3 @ d10 


0
Capital

= 3 @ d10 + 1 @ d20


+1
Enormous
= 3 @ d10 + 2 @ d20

Asteroids may be destroyed by the ship using guns.

Asteroid signature 
Small (d10)
= 0




Large (d20) 
= 3

Firing through asteroid fields

Signature reduced by the density level per intervening hex, discounting the hex the firing ship is in.

Breaching Pods
Fly straight at a target, can only attack Carrier sized and above, others move out of the way too quickly.

Shuttle Signature =4 Armour = 2

Effect of troops each turn

1-2
Shot by defenders

3-6
Pinned down

7
Progress / retreat to connected section 

8 
Blow up structure (10 points)

9-10 
Blow up something (10 points)

Against bases
 -1
Elite troops 
+1

Atmosphere

Fighters & shuttles (unless noted) are atmosphere capable. Other ships state capability. Speed causes heat damage
Atmosphere rating  
= Max atmosphere level 

Heat shield rating
= Damage withstood
 “Atmospheric 3/15”
= Level 3 capable with heat

   shield factor 15
Planet atmosphere levels

Level 0
= No atmosphere

Level 1
= 0.3 atmospheres
~ Mars
Level 3
= 1    atmosphere 
~ Earth
Level 4
= 4    atmospheres
~ Jupiter

 

Levels increases 1 for each hex closer to the planet (Hexes are 5km deep).

  
Turns are possible in half the normal number of hexes as the air provides resistance to wing surfaces.

Finishing speed drops by “Atmosphere level” each 
turn (highest level passed through, however briefly)
Damage 

Heat damage     = speed x current atmosphere level

Damage applies to all systems on facing side, ignoring armour (heat is transmitted through)

Hyperspace jumps into combat

Pick a target hex

Accuracy of jump depends upon the race.

Ships declare a facing before determining the jump point. They jump a random direction (d6) and distance (depending upon race) from the jump point.

	Race
	Hexes off target

	Minbari
	D5-1

	EA
	2d6

	Centauri
	D10-1

	Narn
	2d6

	Brakiri
	D10

	Vree
	D6+1

	Pakmara
	3d6

	Abbai
	D6-1

	Drazi
	d10+d6

	Gaim
	3d6

	Drakh
	D3-1

	Ancient
	Exact


Ships may exit in any formation desired; the whole formation will be displaced by the same amount.

Longer Weapon Explanations

Anti-matter weapons

Anti-matter always blows up on first contact with the exterior (real matter) of a ship so it cannot find a weak point and go straight to cause primary damage.  Primary damage can only occur after the side has been destroyed. Anti matter is particles (anti-protons, anti-electrons) so fires using the particle weapon type for determining range.
Anti-Matter reactors


Anti-matter reactors always blow up the ship when they are destroyed

Gravity weapons

Gravitons pass directly through armour as if it wasn’t there

Gravity Mine
Ballistic

Nearest mine within 5 hexes pulls ships by 1 hex.

Twist ships in the same hex by 60° randomly
Shearing damage if 2 or more mines within 2 hexes on different facings 

Count ships in same hex on a random facing.

All structure locations take 4d10 -d10 / hex away  for each mine except the nearest
Gravitic beams
Gravitons beams directly affect the structure of the ship. They cause intense gravity fields within the target which crunches the ships structure in all sections. The side struck suffers full damage, other structural sections in the ship take one fifth damage rounded down.
Ships using gravity drives are designed to resist gravity effects so only take half damage (round down the damage suffered).  Ships using partial gravity drives reduce damage by ¼ (round down the damage suffered).
Gravitic pulsars

Gravitic pulsars are designed to damage external systems, they contain a charge of gravitons held together in a light packet of particles (this slows down the speed of the projectile slightly to particle speed).  When striking a ship the particle packet is stopped by the armour releasing the gravitons which travel no further but damage system struck. They cannot cause overkill as the gravitons do not travel deep into the ship.

Gravitic shifter

Gravitic shifters are advanced gravitic beams which may be defocused.  This lowers the gravity field but affects a greater area of the target ship allowing it to be twisted by 60 degrees.
Gravitic shifters may act as normal gravitic beams.

Gravitic cannon

Fires a single bolt of gravitons straight through the target barely slowing down on the way but causing damage to the structure on all sides it passes through.   Like the beam it ignores armour and causes 5 damage to each structure section in its path.   Unlike normal weapons the dsamage does not automatically go through to the primary as it is not explosive, instead the shot may pass directly to any other side and exit possibly exiting out the side it entered.  Roll on the main ship side location chart to see where it exits.  If  facing is rolled this means it went into primary and will then need another roll to exit.  Each side suffers the same damage and only suffers once per strike even if it exits the same side. (it only went through half the structure on the way in and half on the way out)
Other Weapons

Light Pulse

Light pulses targeted at a ship are fired in rapid succession causing the individual pulses to strike in almost exactly the same point.  Each pulse burns away the armour slightly for future pulses in that pulse stream.  This does not affect future shots or different weapon strikes as the pulses only cause a very small hole.

 

Each pulse removes 1 armour point

e.g.

 5 pulses strike a system with 3 armour

Pulse 1    Burns 1 armour causes 0 damage

Pulse 2    Burns 1 armour causes 0 damage

Pulse 3    Burns 1 armour causes 1 damage    All 3 armour points are now destroyed

Pulse 4    Causes 2 damage

Pulse 5    Causes 2 damage

Pulsar Mines

Fire in normal sequence.

Plasma Web

Range 1

Plasma web

1 point of damage to all craft in the arc, double drop out

Pass 1st
= No drop out

Fail the 1st
= Temporary dropout for this turn only (power =surge...)

Fail the 2nd
= Drop out is permanent

Boson Beams

An odd weapon, they use a laser to track the target and create a path then fire pulses of particles down the path.  As the pulses track the laser path they get the benefit of the laser range and fire control yet act as particles so strike as standard mode pulses. 
Firing Modes

Power diversion
Weapons are powered by local capacitors which charge up. The capacitors on larger (multi-turn recharge) weapons can draw more than the minimum power.  Power may be diverted from other larger weapons. 

The other weapons must be shut down completely (i.e. restart their charging cycle). Their power for that turn is routed to the desired weapon instead.  This may make it possible to fire weapons in two consecutive turns.

· Only large weapons (those with multi-turn recharge) have the shunts necessary to divert power 

· Note on sheet boxes which weapons are down and which weapons are double charging 

· Weapons may not fire on three consecutive turns, they must cool down for 1 turn.  This cooling turn may be part of the normal charging cycle.

· Smaller weapons, those that fire every turn, do not have the circuitry to divert power away.

e.g. 

A heavy laser requires 6 power and fires every 4 turns. 

Thus it requires 24 power to recharge. If other weapons totalling 18 power are shut down the recharge time may be cut to one turn (the other 6 power being provided by the normal recharge cycle)

Sustained firing (designated mode)
Weapons designated as firing in Sustained mode do not need extra power from other systems to fire on consecutive turns.  They have been designed to have all the power required by normal charging. (They partially overcharge on previous turns, this is calculated into their power requirements).
Sweeping Raking Shots
Weapons firing in raking mode deliver energy to the target for an appreciable length of time, during which the target will have moved, thus the shot rakes along the target.  Additionally the weapon systems may purposefully sweep the beam across space to try and hit a difficult target.

Sweeping raking shots increases the chance to hit but reduces the damage.  If the shot misses the systems automatically rake the beam suffering the loss of one d10 damage for each extra +1 to hit required.

The bonus to hit may never exceed number of d10 damage dice.

Piercing

Number of blocks destroyed in each system depends upon the piercing strength (P8 to P15). 

Neutron laser 
= Not available

Heavy laser
= P10

Battle laser
= P9

Combat laser
= P8

· -5 to hit (unless specialist weapon)

· Hits : 

· System / Weapon
Count armour before system / weapon

· Structure 
Count armour if no system / weapon was hit

· Primary 
Count local armour before and after

· Structure 

· System / Weapon

· <Piercing strength> blocks of damage to each system hit.

· If structure rolled then no system was hit in that hull section.

Interception

No interception against beam or electro-magnetic weapons

After determining if a shot hit ( or number of pulses) decide how many interceptors to use.

Roll the intercept value on a d10 for all weapon intercepting.

For pulses the number rolled is the number of pulses successfully intercepted

e.g.   Mk IV interceptor has -4 interception

A Heavy pulse scores 4 hits

1 Interceptor and 2 SPBs are allocated to interception

The interceptor rolls a 2 

The SPBs roll a 1 and a 6

3 pulses in total are intercepted.

Explanations
Turning
During a turn ships don’t actually follow the course shown on the map. They actually follow a curve starting at the point they declare a turn.  
Additionally during a turn the ship needs to remove a lot of it forward movement so it has to rotate to an angle beyond the final direction.  For most of the turn it will be facing backwards at 60  degrees.
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Ship’s structure
Most of a weapon lies beneath the armour.

[image: image2.wmf]                    [image: image3.wmf]
But even when something is destroyed there is still enough wreckage to act as half armour (rounded down).

Jamming Technology
Minbari Jammers 1
Jammers apply an electrical field across a stealth coating (paint) which alters the microscopic reflective properties of the material.  The properties may be tuned by altering the field to counteract the frequency hopping abilities of radar (though it is likely to be lag slightly). This causes the resultant radar return to be patchy, preventing lock on by weapons, a wavering outline of the ship will still be detectable (as in “In the Beginning”)

The effect is to lose the first X points of EW depending upon race

Most races overcame to some degree the Minbari jammers after a certain time. From that date Jammers only work at half effectiveness. Ships require a jammer upgrade which costs points
	Race
	Lost EW
	Half effect

	EA
	8
	2261

	Centauri
	6
	2202

	Narn
	8
	2261

	Brakiri
	6
	2252

	Vree
	6
	2245

	Pakmara
	8
	-

	Abbai
	6
	2213

	Drazi
	6
	-

	Ancient
	0
	-

	Gaim
	10
	-


Minbari Jammers alternative 2
Ships have Jammers, fighters have stealth.  

Ships

Ships give out too much energy to hide effectively so they distort their position using the gravitic drive to create disturbances in the local gravity field.  This removes the bonus of EW from attacking ships. Minbari EW uses different technology which is unaffected by the distubances
Fighters

Fighters don’t create enough gravitic disturbance to have this effect but they have a stealth mode which hides the ship from radar completely.  Attackers cannot see fighters on radar so the Minbari always move last. In addition attackers lose all EW bonuses.
Earth Energy Web

The energy web does not exist. EA uses stealth technology paint (of various effectiveness ratings) which reduces their signature by 2 or 3 points.
Other Stuff

Ship firing Ratio
· Fire alternately

· If you outnumber the opponent by > 2:1 fire twice. (>3:1 = fire 3 times…)

· Additional ships firing must be from the lowest category of ships available

· Fighters do not count towards numbers except in fighter combat

· Roll to see who fires first every odd numbered round. (1,3…)

(The one ship rule on first strike is to prevent a fleet with 2 large and lots of tiny getting to fire both its big ships first.)

Drakh

Drakh Raiders are as agile as some fighters though they are much bigger.

To Hit Roll

Sensors determine where another ship is. They comprise passive (detectors) and active (radar) units (which are represented as a single system). The detectors are spread around the external parts of the ship and linked to a central computer system.

The system can track all units on the board for general location purposes and at least half a dozen (sufficient for all effective purposes) for firing solutions at full strength.  

Sensors 

: The ability of a ship to pin point the location and velocity of a target

Signature

: How easy it is to detect the position of a ship




  (Assumed to be moving at average speed for the ship, inaccurate but simple)

There is only one number for fire control, if it can track a small fast object it can also track a slow large one.

This is all combined into the “To Hit” table

There is no defensive EW. Any jamming of targeting EW means emissions which can in turn be detected so it is inherently counter-productive
Sensor Upgrades
Ships may refit to the latest sensors available for that race at that time. Costs 5% per +1.
Range bonus calculations

The to hit for a weapon is calculated from the 

Weapons projectile type 
Speed the projectile travels 

Weapon size


Heavier weapons shoot faster projectiles





Heavier weapons are more stable providing more accurate tracking





Heavier weapons can’t cope with fast moving very close fighters

Ships size


Provide platform stability & ability to house the weapons.

Race



Centauri weapons are just better made the EA ones.
